IC I(L3)=0A

IC V(Vdd)=0V
/{f%\ vdd RO visc
atu D5 10 Dgﬂ
R10 V4 ANV
1meg BAT54 NSPW500BS
2N3906 2N3906 |D7
Q4 Visb Q2 N S
NSPW500BS
D8
\/ﬂ
Veont i v MC14066 LN
ca MC14066 NSPW500BS
L - L1 c2 D9
200U R11 9§R12 S3 224 1o ANwE
1me 1me
9 HC14 1C V(Ve)=0V D3 NSPWS500BS
A3 22
HC14 Vi > Vout
C V(Vt)=0V HC14 — M1 1N5819 IC V(Vout)=0V
Al A2 A4 R3 L2 =
Vt?o f@ go VsW, | IRLML2803
4.7 R6
v R4 AS 1k
= 10k i ,
D1 R1 R5 c3
{Vbatt} K -
Rser=0.4 A6
BAT54 4.7k ime 100
Vcont R8 Q3 P\ZF R2 9 ?Oi p
2N3904 1
220k BAT54 2.2k 2N3906 D4
c1
V2 L Q1 BAT54
Control Signa 470p R7
PULSE(0 2V 1m 2u 2u 2m 4m) 22K

.tfran 25m
.param RonMC=200 RoffMC=1G

.param RoutHC=50 CoutHC=100p
.param Vbatt=4V

.model SWMC4066 SW(Ron={RonMC} Roff={RoffMC} Vt={Vbatt*0.5} Vh=0)
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